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R M

Stk
PN ISR
2X =9 i

K- EH3 B (3H) - HSAY - Ba2 ﬁlf& HD=2
201 Bt A | 15,420 14,520 900
01 AP 2t 2l Yl 15,420 14,520 900

OstZa 2288 7Y(AWX, Y2SE S)
60,0003 *6 1 A~ x12& 4,320
QA MEES 500
Ogatal &xZ 1) 1,600, 000& *23] 3,200

OMZE HY XA VROIAZ 2

130& *20, 0004 2,600
OAL&IQIEH X 2 e 200& x15,000%& 3,000
OAMESE H& 60& *15,000& 900
CE2EAIZ O MEX HIE 3003 *3,000& 900

401 Al HI YL 2 0HHI 55,540 70,630 A 15,090

01 Al &I 55,000 70,000 A 15,000
oS =z ¢ g 20,000
o222 3z ¥ LU AH 10,000
OLsSdEANE AIES2 MO B 10,000
OokL2d 33Xy 10,000
OLSd8AMNZ VRERIIESs 24 5,000

03 Al& 201l 540 630 A 90
OLSdEAIZ 22| 50,000,000& *1.08% 540

=H3d 2 HE 111,591 100,280 11,311

101 2124 1| 38,759 37,448 1,311

04 JI2ZtHIZ22XNHSE 38,759 37,448 1,311
=8 ZH 0| 73,2803 x5H x5 x33| 5,496
OAHE Z MM 73,2803 *5H x 10«33 10,992
O&=x= HA 73,2803 *5H x4 x33| 4,397
OMZ=HM &tz 73,280 x5H 32 x23| 2,199
OANdE 22| & 73,2803 *1H %200 14,656
ONE - MHEBE = 37,740,000& *2.7% 1,019

201 Let2 Y| 2,400 2,400 0

01 AFR2t2l bl 2,400 2,400 0
Ost&al 2A22E FU(EX, ELAE2E S)
50,000 *3H A~ x12& 1,800
Ou=x=J] 228 600

206 I = bl 20,000 0 20,000

01 T2l 20,000 0 20,000
OSELZ2 AZ HEZ S22
500& *20,000=2 23] 20,000

401 Al HIL 200 50,432 60,432 A 10,000

01 A& bl 50,000 60,000 A 10,000
Oxd= &1 5,000




F ottt
SR Y
22X =8 FH (&)
SA - ZE-B(EA) - NRAY - B S il RS2
OANdE B L &M 10,000
OXYAME(IZS, B2¢ES S) B 5,000
OCIAtel 8iixl & 10,000
OO0f2t & =HAIE &X 20,000
03 Al 2 THHI 432 432 0
O=8ZI&d & MY HHl  40,000,000& *1.08% 432
MOl 234 2el 51,066 92,325 A41,259
101 @124 dl 36,125 34,895 1,230
04 JI2ZHHZ2XREES 36,125 34,895 1,230
OAHHZE Z A 73,280 *5H x5 x33] 5,496
OFg ZHiD| 73,2803 *5H x5 +33| 5,496
OM=HM &= 73,280 *5H 3 x23] 2,199
O&= HMMA 73,2803 *5H x5 x4 3| 7,328
OANEsS & 8 A 73,2803 x 1% 200 14,656
OLE - tHEE 35,174 ,000& *2.7% 950
201 Let24d] 1,800 1,800 0
01 At 22l 1,800 1,800 0
Ostya 2288 FL(3EN, EAEE 8)
50,0003 204 A %12 1,200
OW=Jl 228 7 600
401 AlEHI 2 2 0hI 13,141 55,630 A 42,489
01 A& HI 13,000 55,000 A 42,000
OzxgE=2 & &S M 5,000
OXYAME(IIZS, B2ES S) B 3,000
OFXN, MM NS E= 5,000
03 A& =2 THHI 141 630 A 489
O=H0l 234 22| 13,000,000& *1.08% 141
BHH=EW E=ZcHX 39,684 56,626 216,942
101 @124l 20,322 19,591 731
04 JIZHHZ2Z2XNHESE S+ 20,322 19,591 731
O=F8 ZHiDl 73,2803 *5H x32 *33| 3,298
OAMAZE 2 AT 73,2803 *10H x5 +33] 10,992
OM=HM &= 73,2803 5«3 +23| 2,199
O&= HMMAH 73,2803 «5H «32 «33] 3,298
Ol - ¢tHEER 19,787,000& *2.7% 535
201 L2l 4,200 5,700 21,500
01 At 2t 2l 4,200 4,200 0
Ost&a 22823 (3&EXN, 2288 ) 7
100,000 *3H 2+ 122 3,600
OWl=Jl 228 ¢ 600
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M 22RO oY
S 22X F=8 F| (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
401 Al HI 2L 2 0HHI 15,162 31,335 N 16,173
01 A& HI 15,000 31,000 A 16,000
odgzg 3z 2= 5,000
OF2s, S8, REdAIH HIAL B 5,000
O&E= N1 5,000
03 Al& 201l 162 335 N173
OYMEN ==Xl AHH]
15,000, 000& *1.08% 162
MU 66,225 76,404 A 10,179
101 @121 36,125 39,654 AN 3,529
04 JI2ZtH22XNHEE =+ 36,125 39,654 AN 3,529
O=4 ZHJI| 73,2803 *5H x3 «33] 3,298
OXd+ Ygols &H 73,2803 *5H x 10 x23] 7,328
O&= HA 73,2803 10 *8L x23] 11,725
OHMZ=M &t 73,2803 *5H x5 x13] 1,832
OZ2Xx4 & H| 73,2803 *10H x15Y 10,992
O1ng - MuEE= 35,175,000& *2.7% 950
201 Bt H | 600 2,250 A 1,650
01 At 22l Yl 600 2,250 A 1,650
OFtaa 2EE PYU(SEXN, BAEE E)
50,0003 * 1 A x12& 600
206 T2 HI 19,500 19,500 0
01 24l 19,500 19,500 0
OLAXHZE 2H= 7Y 39,000& *500kg 19,500
401 Al HI YL 2 0HHI 10,000 15,000 A5,000
01 A& HI 10,000 15,000 A5,000
Oozslg2 ¥ &= HA 5,000
oMYl 02 24+ ¥ 2 AHC 5,000
22 HE gx 25,082 25,588 A 506
101 @121l 16,182 16,688 A 506
04 JIZtHI2E2NEE = 16,182 16,688 A 506
OF4Y 247l 73,2803 x5H x5 x33| 5,496
O&=x= HA 73,2803 x4H x5 x23| 2,932
OANMEE ¥ =H HA 73,2803 *1H %100 7,328
ONE - MHEBE = 15,756, 000& *2.7% 426
201 LEt2 Y| 900 900 0
01 AR 22| I 900 900 0
Ogt&a 2A2I2E U (EX, EAE2E S)
50,000& * 10 A~ x 128 600
Oul=J] 228 2¢ 300
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401 AlEHIZL 2 0HY| 8,000 8,000 0
01 Al&H| 8,000 8,000 0

o=y 84 5,000
O&FX 2edAHol & 3,000

=UsEHIOIZ2E 54,436 60, 546 A6,110
101 e1214| 32,663 31,697 966
04 JIZtHI22XNEES 32,663 31,697 966

OHlotE2g 22l & A 73,280& x8H »23 13,484
O&= HA 73,280 x5 x5 %3 3| 5,496
O=F=Y EHIDI 73,280& x5H « 10 x23] 7,328
OM=HM &= 73,280 x5 x5 %33 5,496
Ol - MHEEEZ= 31,804,000 *2.7% 859
201 Bt 600 600 0
01 AP 22| H| 600 600 0
Oztztal 2Aeg8 YU (FHEN, FAZ2E S)
50,0003 *1J) A x12& 600
206 T 24 5,000 5,000 0
01 =4l 5,000 5,000 0
O] & AdAtZ, HE2 7Y 5,000
401 AIEHIZL 2 0HY| 16,173 23,249 NT,076
01 Al&H| 16,000 23,000 7,000
ogz&d 2% 3,000
Ox=MMcX A 5,000
OJtzs 2% 3,000
O=2dIgor &€ OIXE Sw d&24xXY B4 5,000
03 AlE 201 Y| 173 249 ANT6
Osd=sEH o228 22l 16,000, 000 *1.08% 173

=2 A== 34,720 0 34,720
101 2121 H] 27,020 0 27,020
04 JI2ZtHIZ22NEE S 27,020 0 27,020

omIzazs2=x® 22| & #3A
73,2803 1% x200 14,656
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O=F=Y EHIDI 73,2803 x4 H %2 x4 3| 2,345
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OM=HM &= 73,280 x5H x5 «33| 5,496
O1nE - AHEE2 26,309,000 *2.7% 711
201 et 9| 5,700 0 5,700
01 AP 2t 2] H| 5,700 0 5,700
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206 M= Hl 2,000 0 2,000
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omaz2=x vz € s 2L 1,000
Omzm2Z2ZH HHEE 27 1,000
HS2ats Lo 2e|d|gt 2= 4,486,020 3,836, 158 649,862
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EX: S22
M. MESSIKAS 22|08 2=
el 2eFAo HAHE ds52H (SH9: &)
2 S 4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OM&g datzts ¢ 20,000 x50 1,000
402 SI2F 20| & 50,000 0 50,000
01 It E AL EXR (M) 50,000 0 50,000
OBAHdILHN SSH HMoisats ME 50,000
LSS LU ED SS0z=WEA IR AFE 66,000 66,000 0]
= 26,400
= 39,600
101 e1214| 63,500 62,000 1,500
= 25,400
= 38,100
04 J|12ZtHIZ22NEES 63,500 62,000 1,500
O2SH=nNEA HX(HBAHAZSHH, ST
) 2,405,290 x2H x 122 57,727
= 23,091
= 34,636
o482 57,727,000 *10% 5,773
= 2,309
= 3,464
201 LBt | 1,500 3,000 A 1,500
= 600
= 900
01 AP 22| d| 1,500 3,000 A 1,500
OS2z sSA HIREE2EH| = 1,500
= 600
= 900
202 044l 1,000 1,000 0
2 400
= 600
01 2L I 1,000 1,000 0
O=2tl=wsA AEdS 1,000
= 400
= 600
S FAAES B=2e 2,827,891 3,024,160 A 196,269
= 727,453
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= 1,609,281
S5 E4AH (XA 75,277 174,828 A 99,551
101 Q124 4| 9,327 8,878 449
04 JI2ZtHIZ22NEES 9,327 8,878 449
O23M B339 ZHIDJ1(18MHA)
73,2803 x7H 6 33| 9,234
OMTEE =2 9,234,000 *1% 93
201 2Et24H Y| 5,050 5,050 0
01 AP 22| H| 5,050 5,050 0
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O2M E5+Y F=HAH o5 &
300,000& =33l 900
307 gl2tol & 30,000 0 30,000
02 IZHE M AIHE L 30,000 0 30,000
OZ& HEA AMAEIE =03 Nzl 30,000
401 Al HIZ 201 bI 30,000 30,000 0
01 A& HI 30,000 30,000 0
O=2stM 2=E=[HZE Mol S(HXNE Z&)] 30,000
=JHXE 23 ¥ SE23M E+FH X 926,768 1,793,886 A 867,118
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< 143,015
[ia 143,014
401 AIEHI L 201 266,088 343,099 AT7,011
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< 39,912
s 39,913
01 A& HI 240,236 272,798 A 32,562
Oddllgs BHARX &3 e & 2LHE 119,136
= 83,396
< 17,870
i 17,870
OYHZE =30 t==d 22,000
= 15,400
< 3,300
[ia 3,300
OYda =30 2& L SEHALE B+ 99,100
= 69,370
< 14,865
e 14,865
02 Zeltl 24,088 68,654 A 44 566
OsZA =253 38 LA 2 IS 2
29 11,829
= 8,281
< 1,774
e 1,774
ONAg el N HHE> ZelEY 12,259
= 8,582
< 1,838
s 1,839
03 Al 2 0HHI 1,764 1,647 117
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